anll

Tinh nhan t&r ctia da thic khoi
Tén: Ngay thang: Diém:
6x” — 36x 7> — 49x
X — 15x% + 62x — 48 20x> + 29x* — 19x— 30
7 + 55x% + 42x X —2x> —29x— 42
6x° — 47%° + 21x + 98 15x° + 92x% — 12x — 144
3 2 3 2
x +5x"+T7x+ 12 24x” + 206x" — 111x— 189
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Tinh nhan tir caa da thac khéi
Tén: Ngay thang: Diém:
6x” — 36x 7x* — 49x
6x(x — 6) Tx(x—17)

X — 15x% + 62x — 48
x—6)x—8)(x—1)

7 + 55x% + 42x
(7x+ 6)(x+ 7)x

6x° — 47%° + 21x + 98
(x— 2)(x— 7)(6x+ 7)

X452+ T+ 12
(x+ 4)E +x+3)

20x> + 29x* — 19x— 30
(5x + 6)(x — 1)(dx + 5)

X =2 —29x— 42
(x+2)x+3)x—7)

15x° + 92x% — 12x — 144
(5x— 6)(x + 6)3x + 4)

24x> + 206x% — 111x — 189
(4x+ 3)(x+9)(6x— 7)
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